04/99 AWA 2100-1679

Montageanweisung Instrucciones de montaje
Installation Instructions WHCTPYKUMA NO MOHTaXy
Notice d'installation 2%

Istruzioni per il montaggio

MOELLER

DIL P 160/22, DIL P 250/22
DIL P 315/22, DIL P 500/22
DIL P 630/22, DIL P 800/22
+

DILP ... -XHB

DIL P ... -XMV(-S)

DIL P 800-XHI.-..

Lebensgefahr durch elektrischen Strom!
} Nur Elektrofachkrafte und elektrotechnisch
unterwiesene Personen diirfen die im folgen-

den beschriebenen Arbeiten ausfiihren.

Electric current! Danger to life!
Only skilled or instructed persons may carry out the
following operations.

Tension électrique dangereuse !
Seuls les personnes qualifiées et averties doivent exécuter
les travaux ci-apres.

Pericolo di morte causa corrente elettrica!
Solo persone istruite e avvertite possono eseguire le
operazioni di seguito riportate.

iCorriente eléctrica! jPeligro de muerte!
El trabajo a continuacion descrito debe ser realizado
por personas cualificadas y advertidas.

AnekTpuyeckuit Tok! OnacHo ANA XusHu!
Tonbko cneunanucTbl WKW MPOUHCTPYKTUPOBaHHbIE
nmua MoryT BbINOMHATL CReAytoLmne onepaumu.

+E|+ DIL ++

1 2 3 4
DIL P 160 DIL P 800 DIL P 800-
DIL P 250 XHI-SI XHI-SI
DILP 315
DIL P 500 | DIL P 800- |DILP 800- DIL P 800- | DIL P 800-
DILP 630 | XHI-SA XHI-SI XHI-SI XHI-SA
DIL P 800

DIL P 800- DIL P 800-
XHI-SI XHIV-SRI

DIL P 800- |DIL P 800- DIL P 800-

XAESA - [XHiEor Imiiediate Delivery call KMParts.com at (866) 595-9616

it

72 T
T

o v

1
2

1/6



04/99 AWA 2100-1679

Einbaulage: a
Mounting position: a b
Position de montage — 0 A DILP160 | 120 | 140 | 4 X M6

Posizione di montaggio ' DIL P 250 120 140 4 % M6
Posicién de montaje: ‘

[MonoXeHne npu MoHTaxe: ‘ | = DIL P 315 160 140 4 x M6
g P ' | | DILP500 | 220 | 200 |4 x M6 x 30
— ‘ N
o — o DILP630 |220 | 200 |4 x M6 x 30

DILP 800 | 220 | 200 |4 x M6 x 30

Vo= / _F ] 4M6 x 30 DIL P 500
T =\ / DIL P 630
\ /‘ OHO}O) / D". P 800

\ Dampfungs- Elemente

Fitting damping elements
Elements amortisseurs

:%? Elemento ammortizzatore

Elementos amortizadores
AmMopTU3MpytoLwme aetanu
LN

DIL P 160
DIL P 250
DILP 315

For Immediate Delivery call KMParts.com at (866) 595-9616

2/6



04/99 AWA 2100-1679

M10
16— 20 Nm

K-A-DIL 11 Q) ©)

K-B-DIL 6M | K-B-DIL 6AM | K-A-DIL 11
M 10 | KS-B-DIL 6M| KS-B-DIL 6AM| K-B-DIL 11

DILP 160
DIL P 250
DILP 315

X X

DIL P 500
DIL P 630
DIL P 800

K-B-DIL 11

Typ mm’ mm’ | Nm
K-A-DIL 11 | 70 =120 25
—-300 45
K-B-DIL 11 35-185 | 20
II' DILP 315 | DILP 315-XHB
DIL P 500
@ DILP 630 | DIL P 800-XHB
DIL P 800

For Immediate Delivery call KMParts.com at (866) 595-9616

3/6



04/99 AWA 2100-1679

2]

DILP 315
DIL P 500
DIL P 630 DIL P 160
DIL P 800 DIL P 250

For Immediate Delivery call KMParts.com at (866) 595-9616

4/6



04/99 AWA 2100-1679

DIL P...-XMV

DIL P 160
DIL P 250
DILP 315

f

)%

il |

(%{55534"1

720
e — | o~ ¢ ]
T 77 7
| 11 !
} T |
- ) U D L
T R |
Ll |
| "WT* |
\ !
! 1 L —— >J
al
|a [b [at |
DILP160 | 120|140 | 65 | DILP 250-XMV
DILP250 | 120|140 | 65 | DILP 250-XMV
DILP315 | 160|140 | 63.5| DIL P 315-XMV
Iz' DIL P 500
DIL P 630
DIL P 800
M6 X 25
DILP500 | DIL P 800-XMV
% M6 x 30 DILP630 | DILP 800-XMV
DILP 800 | DIL P 800-XMV

1

For Immediate Delivery call KMParts:

m at (866) 595-9616

5/6



04/99 AWA 2100-1679

DIL P...-XMV-S
1]

DIL P 160
DIL P 250

DILP 315 | DIL P 315-XMV-S

‘ DIL P 250-XMV-S

[]

G<g

—/—H
b
o

L=
—1z
\
\
I
8 e
b
T
\
\
\
\
\
|

‘F

la [b |bI
120 | 140 | 31 =375

120 | 140 | 31 =375
160 | 140 | 73 =375

b
[

. DIL P 160
‘ T DIL P 250

e — DIL P 315

6/6

© 1999 Klockner-Moeller GmbH, . . Anderungen ~ 04/99 AWA 2100-1679 FD/DM _
53105 Bonn For Immediate Delivery call KMParts.comiat (888} 59516zl Republic of Germany



